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Question 22 (10 marks) 2013 HSC - Economics
Band 5/6

(a) A hypothetical economy has a simple multiplier of 2.5. Sample 1 Question 22

Calculate the change in national income that would result from an increase in 1
investment of $100 million.
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(b) Outline how economic growth in a major trading partner might influence 2
“economic growth in Australia. =
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(c) ng w1]l an increase in Australla S marcmal propensity to save (MPS) af(7 ol tic 3 f 94%"

Australia’s economic growth?
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Question 22 (continued) 2013 HSC - Economics
Band 5/6

Je 1 Question 22
(d)  Explain the effects of a reduced rate of economic growth on the Austrafran 4

Government budget. .
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